PI.	ANT	ENTER	PRISES	PRODUCTI	\mathbf{ON}

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Pine				72,099	cords	
Hardwood				19,325	cords	
Pulpwood (Total)				91,424		
Chip & Saw				64,393	cords	
Saw Timber						
Pine				17,814,177	board feet	
Hardwood				2,741,948	board feet	
Saw Timber (Total)				20,556,125		
Total Pulpwood, Chip & Saw, Saw Timber FOB Mill	,					\$21,835,576
Total Forestry Stumpage						\$13,053,659
Christmas Trees	6			3,050	trees	\$122,000
Pine Straw	*			7,000	bales (40 lbs.)	\$14,000
Forestry (Total)		0.0			, ,	\$21,971,576
FRUITS						
Blackberries	*	1.0	800.00	800	pints	\$800
Blueberries	*	7.0	2,000.00	14,000	lbs.	\$17,500
Muscadines						
Fresh	*	1.0	300.00	300	gals	\$2,400
Muscadines (Total)		1.0				\$2,400
Peaches	*	3.0	31.00	93	bu.	\$2,790
Fruits (Total) GREENHOUSE VEGETABLE	ES	12.0				\$23,490
Tomatoes	*	2,880.0	4.00 Yield / sq. ft.	11,520	lbs.	\$15,552
Greenhouse Vegetables (Total) HAY FOR SALE		2,880.0	T	,		\$15,552

PI.	ANT	FNTFR	PRISES	PRODUC	TION

-	<u>I</u>	LANI EN	IERPRISES PROD	OUCTION		
	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
HAY FOR SALE						
Grass	23	1,300.0	3.00	3,900	tons	\$195,000
Hay for Sale (Total)		1,300.0				\$195,000
HOME GARDENS	7,000	,				\$2,100,000
NURSERY CROPS						
Fruit and Nut Trees	*				acre	\$8,000
Floraculture & Bedding Plants	26				acre	\$11,250,000
Woody Ornamentals	53				acre	\$6,000,000
Foliage Plants	22				acre	\$2,700,000
Nursery Crops (Total)						\$19,958,000
SOYBEANS	*	336.0	36.00	12,096	bu.	\$75,116
SWEET POTATOES						
Fresh				250		\$3,500
Sweet Potatoes (Total)	*	1.0	250.00	250	bu. (50 lbs.)	\$3,500
VEGETABLES						
Broccoli (Fresh)	*	1.0	315.00	315	cartons (20 lbs.)	\$4,725
Cantaloupe	*	1.0	150.00	150	cartons (40 lbs.)	\$2,250
Carrots	*	0.5	475.00	237	doz. bunches	\$1,659
Cauliflower	*	0.8	425.00	318	cartons (20 lbs.)	\$4,770
Collards					·	
Fresh	*	1.0	600.00	600	doz. bunches	\$4,200
Collards (Total)		1.0				\$4,200
Cucumber Fresh	*	1.0	250.00	250	bu. (50 lbs.)	\$2,500

PI.	ANT	FNTFR	PRISES	PRODUC	TION

		LANI ENI	ERPRISES PROD	UCTION		
Crop	fumber of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
VEGETABLES	110440015			Troduction	- Tribusure	
Cucumber (Total)		1.0				\$2,500
Eggplant	*	0.8	475.00	356	bu. (33 lbs.)	\$5,340
Garlic	*	0.3	4,250.00	1,062	,	\$4,248
Irish Potatoes		0.5	1,230.00	1,002	105.	Ψ1,210
Fresh	*	2.0	175.00	350	cwt.	\$12,250
Irish Potatoes (Total)		2.0	170.00			\$12,250
Mustard (Fresh)	*	2.0	650.00	1,300	doz. bunches	\$9,100
Okra (Fresh)	*	0.8	214.00	160		\$4,000
Peppers						. ,
Bell	*	0.8	456.00	342	bu. (28 lb.)	\$5,130
Peppers (Total)		0.8				\$5,130
Pumpkin - Cushaw	*	0.5	145.00	72	cwt.	\$1,440
Radish	*	0.5	200.00	100	doz. bunches	\$700
Shallots	*	1.0	1,000.00	1,000	doz. bunches	\$6,000
Snap Beans (Fresh)	*	1.5	120.00	180	bu. (30 lbs.)	\$4,500
Southern Peas (Fresh)	*	4.0	100.00	400	bu. (24 lbs.)	\$10,000
Squash (Fresh)						
Yellow Squash	*	1.0	249.00	249	bu. (45 lbs.)	\$3,735
Zucchini Squash	*	1.0	249.00	249	bu. (45 lbs.)	\$2,988
Winter Squash	*	1.0	249.00	249	bu. (45 lbs.)	\$3,735
Squash (Fresh) (Total)		3.0				\$10,458
Sweet Corn (Fresh)	*	2.5	600.00	,	doz. ears	\$5,250
Tomatoes (Field)	*	2.0	850.00		lugs (20 lbs.)	\$30,600
Turnips (Fresh)	*	0.8	600.00	450	doz. bunches	\$3,150
Watermelon	*	10.0	100.00	1,000	cwt.	\$8,000
Vegetables (Total)		37.5				\$140,270
TOTAL ALL PLANT ENTERPI	RISES					\$44,482,504

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

D: 1 .	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
AQUACULTURE						
Catfish (Farm)		10 A	Acres in Prod.	10,000	lbs.	\$6,800
Fish bait	20			50,000	lbs	\$300,000
Alligators (Farm)				3,900	ft.	\$66,300
Aquaculture (Total)						\$373,100
MARINE FISHERIES						
Shrimp **	200			93,932	lbs.	\$144,561
Crabs **	172			1,867,769	lbs.	\$1,878,042
Commercial Finfish **	12			1,054	lbs.	\$796
Marine Fisheries (Total)						\$2,023,399
FUR ANIMALS				283	pelts	\$2,077
ALLIGATORS (WILD)				2,122	ft.	\$44,573
HUNTING LEASES						
Waterfowl	7	20,000 N	No. Acres		acre	\$300,000
		L	Leased			
All Other Game	160	110,000 N	No. Acres		acre	\$605,000
		L	Leased			
Hunting Leases (Total)						\$905,000
HONEY	25	270 N	No. Hives	24,300	lbs.	\$17,982
TOTAL ALL FISHERIES &	WILDLIFE ENTERPRISES					\$3,366,131

^{**} The marine, freshwater and oyster data presented here are for the year 2003 rather than 2004. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION

	ANIIVIA	AL ENTERPRISES PRODUCTIO	'11		
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			395	head	\$174,942
400-500 lbs.			1,012	head	\$510,868
500-600 lbs.			770	head	\$430,488
600-700 lbs.			95	head	\$60,515
Steer Calves (Total)					\$1,176,812
Heifer Calves					
300-400 lbs.			395	head	\$159,250
400-500 lbs.			990	head	\$460,424
500-600 lbs.			750	head	\$395,876
600-700 lbs.			95	head	\$56,810
Heifer Calves (Total)					\$1,072,361
Yearling Cattle					
600-700 lbs.				head	\$94,276
700-800 lbs.			230	head	\$158,700
Yearling Cattle (Total)					\$252,976
Cow-Calf Pairs				pair	\$209,000
Cull Cows			840	head	\$344,933
Cull Bulls			215	head	\$197,467
Cattle & Calves (Total)	108	5,800 No. Cows			\$3,253,549
DAIRY					
Dairy Cows					
Milk	*	200 No. Adult Cows	1,074,442	pounds	\$177,068
Bred Heifers				head	\$7,500
Cull Cows				head	\$25,875
Bull Calves				head	\$5,400
Breeding Age Bulls			3	head	\$3,300

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
DAIRY						
Dairy Cows (Total)						\$219,143
Dairy (Total)						\$219,143
HORSES						
Brood Mares						
Race Horses	75	3,100	No. Brood Mares	1,750	head	\$14,000,000
Show Horses	65	800	No. Brood Mares	575	head	\$2,012,500
Recreation Horses	125	400	No. Brood Mares	175	head	\$262,500
Brood Mares (Total)						\$16,275,000
Stud Fees						
Race Horses		150	No. Stallions	3,750	mares bred	\$7,500,000
Show Horses		60	No. Stallions	1,500	mares bred	\$2,250,000
Recreation Horses		20	No. Stallions	200	mares bred	\$40,000
Stud Fees (Total)						\$9,790,000
Race Horses	175			1,680	head	\$16,800,000
Show Horses	450			1,350	head	\$5,400,000
Recreation Horses	700			2,000	head	\$3,000,000
Horses (Total)						\$51,265,000
SHEEP						
Wool		180	No. Sheared	720	cwt.	\$202
Slaughter Lambs				75	head	\$9,141
Show Lambs				6	head	\$1,650
Stocker Sheep				20	head	\$1,500
Cull Sheep				20	head	\$1,100
Sheep (Total)	6	180	No.Breeding			\$13,592
			Ewes			
GOATS						
Show Goats				35	head	\$6,475

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
GOATS					
Slaughter Goats			50	head	\$5,250
Stocker Goats			40	head	\$3,400
Cull Goats			5	head	\$300
Goats (Total)	12	158 No. Does			\$15,425
SWINE					
Show Pigs			50	head	\$16,500
Feeder Pigs			35	head	\$1,610
Slaughter Hogs			11	head	\$1,716
Culls			7	head	\$784
Swine (Total)	7	50 No. Sows			\$20,610
TOTAL ALL ANIMAL	ENTERPRISES				\$54,787,319
ST. TAMMANY PA	RISH TOTAL				\$102,635,954